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Note: Figure to the right indicate full marks of the questions.

Q:01(A)
Q:01(B)

Q:01(A)
Q:01(B)

Q:02

Explain the continuity doctrine and matching concept
Explain Revenue recognition and Expenses recognition

OR
Explain methods of computing depreciation

Meaning of Inventory and what are the significance of inventory

valuation.

The following is the Trial Balance of Atul & Co. on 31* March, 2022.
Particulars Debit Rs. | Credit Rs.
Cagh in Hand 5,400
Cash at Bank 26,300
Purchase 4,06,750 )
Sales 9,87,800
Returns inward 6,800
Return outward 5,000
Wages 1,04,800
Fuel & Power 47,300
Carriage on sales 32,000
Carriage on Purchases 20,400
Stock (Opening) 57,600
Building 3,00,000
Freehold Land 1,00,000
Machinery 2,00,000
Patents 75,000
Salaries 1,50,0600
General Exps. 30,000
Insurance 6,000
Drawings 52,450
Capital 7,10,000
Sundry Debtors 1,45,000
Sundry Creditors 63,000

17,65,800 | 17,65,800

Taking into account the following adjustments, and prepare Trading
Account, Profit and Loss Account and the Balance Sheet as on 31

March, 2022;

1. Machinery is to be depreciated at @ 10% and Patents @ 20%.

2. Salaries for the month of March, 2022 amounting to Rs. 15,000 were

unpaid.

3. Stock on hand on 31% March 2022 is Rs. 68,000

4. A Provision for Bad and Doubtful Debts is to be created to the extent

of 5% on Sundry Debtors.

5. Wages include a sum of Rs. 20,000 spent on the erection of a Vehicle

parking. .
@

08
10

08
10

17




Q:02

“Q:03(A)
Q:03(B)

Q:03

6. Insurance includes a premium of Rs. 1,700 per annum on a policy
expiring on 30% September 2023.

OR
Mohini and Miral are in a partnership sharing profits and losses in the
ratio 3:2. From the following Trial Balance and adjustments given
below, you are required to prepare Trading and Profit and Loss Account
for the year ended 3 Ist March, 2022 and Balance Sheet on that date.
Trial Balance as on 315 March, 2022

Debit Balance Rs. Credit Balance Rs.
Building 4,00,000 i Capital Afcs -
: Mohini 3,00,000
Miral 2,00,000
Plant and Machinery 1,20,000 | Sales 8,10,000
Purchases 6,50,000 | Sundry Creditors 1,00,000
Carriage’ 7,000 | Outstanding salarjes 4,200
Opening stock 90,000 | 8% Bauk loan ‘
(Taken on 1.10.2021) 1,00,000
Wages 35,000
Sundry debtors 1,50,000
Salaries 28,000
Postage and Telegram 4,000
Insurance 5,000
Bad debts 3,000
Rent 4,000
Discount 3,200
Drawings A/c -
Mohiri 10,000
Miral 5,000
15,14,200 ] 15,14,200
Adjustments:

Depreciate Plant and Machinery at 10% p.a. and Building at 5% p.a.
Create R.D.D at 5% on Sundry Debtors.

Partners are allowed interest at 5% p.a. on their capitals.

Salaries include Rs. 2,500 as advance to workers.

Stock on hand on 31st March, 2022 was valued at Rs. 1,10,000.
Prepaid insurance Rs, 1,500

A ol e

Explain procedure of dissolution of the partnership firm.
Write note on piecemeal distribution

OR
A, B, Cand D are partners sharing profit and losses in the ratio of 4:3:2:1
respectively. They decided to dissolve the firm from 315 March 2022 on
which date their Balance Sheet was as under:

(2)
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Q:04

Q:04

Balance Sheet

Liabilities Rs, Assefs Rs.
Capital Accounts: Land & Building 1,40,000
- A 2,20,000 | Machinery 20,000
- C 60,000 | Stock 80,000
(eneral Reserve 40,000 | Debtors 90,000
Profit and Loss A/c 10,000 | Less: BD.R. 4,000 86,000
Creditors 80,000 | Cash Balance 14,000
Bills Payable 20,000 | Capital A/c
- B 30,000
- D 60,000
4,30,000 4,30,000

Land & Building Rs. 90,000, Machinery Rs. 12,000, Stock Rs. 60,000
and Debtors Rs. 50,000 realized.

Creditors and bills payable were paid 80 paise in a rupee. A Liability of
Rs. 3,000 not recorded in the books has to be settled for Rs. 2,000.

‘Realization expenses amounted to Rs. 8,000.

‘D’ becomes insolvent and received Rs. 40,200 from him private

property.
Prepare the Necessary Accounts.
X, Y and Z were carrying on business in partnership. They were sharing

profits and losses in the ratio of %, z- and %. On 31/03/2022 they decided

to sell the business to XYZ Ltd. When their position was as follows:
Balance Sheet

Liabilities Rs. : Assets . Rs.
Capital Accounts: Freehold Assets . 36,000
X 40,000 | Investments 28,000
Y 21,000 | Debtors 30,000
Z 19,000 | Stock 26,000
Creditors 40,000 | Cash 20,000
Investment
Fluctuation Fund 4,000
Reserve Fund 16,000

1,40,000 1,40,000

XYZ Ltd. Took over the entire business including cash and the purchase
price was payable in fully 8,000 shares of Rs. 10 each issued at Rs. 12
each. Debentures of Rs. 20,000 and Rs. 6,000 in cash. The expenses of
realization amounted to Rs. 2,000,

There is no agreement between the partners as regards the proportion in

- which shares and debentures in the proportion you deem fit.

OR
Explain procedure of sale of partnership firm to a limited company and
how to ascertain purchase consideration.
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